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Mathematics 2013 (Enset Bambili)

. 32% =0.25, yields e*I"(0-25) j e x = —0.4

(C)

ug = 2, ug = 256, we write ug = 2(q)8,
does g=2 (A)

. Df=R-{3} (A)

(x—3)(x—4) < (x—3) yields x>*~8x+15 <

0does3<x<5

. We obtain z = % (A)

1

. In(V5) (C)

. When n tend to infinity, s, tends to

infinity (D)

. f”(x) = 0 is equivalent to x = 0 or

x=2

and. ‘we have

k<33

%+5:6xyieldy:3x2—5x—l (D)

>|l>
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X =
AS =8!=40320

240 (D)
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35, =2

120
y=x+%

(1~(3)%)
43 =2

3

(B)
Sy = 3(;‘—;) thus s, exist iff x # 3
cost = —1 is equivalent to cost =
cos 2L yield #={2% + 2nm or t = -2 +

2nmt (n € 7). (A)

tga = % does a = 59°

_2
3

x3+93 =10, yields y’ = —x?(10-x3)

Cg x Cg = 8820

P(AUB)=P(A)+P(B)-P(ANB) (B)

Upper quartile

X 0 1 213
P(X=x;)|3c|2c|c|O

Y P = l,thusc:% (D)
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